
Economics 314 Spring 2019 

Daily Problem #27 March 20 

 

In our model with a continuum of consumption goods and imperfect competition, 

household utility is given by 
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1. Can we ignore the last term of the utility function in finding the household’s optimal 

consumption choices? Why or why not? 

 

2. Write the Lagrangian expression that we can use for constrained utility maximization, 

choosing the optimal amounts of each Ci taking as given the total amount of nominal 

spending S. 

 

3. Set up (but do not solve) the first-order conditions for utility maximization. 


